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Question | The concept of unoformitarianism was postulated by ----------------- .

IARRACTRATAGH & HhoTell ---oemmmmemeoemee A=A FHise.

A James Hutton
&g gl
B Mackinder
o
C Grifith Taylor
D King L.C.
foraT Tor. 4.

Answer A

Id 2

Question | Who stated that land scape is a function of structure, process and time.

ofSEhY & EITET, Uihdr 10T d&d I 1Y 3T 31 HIol Fgeo AR,

A Charless Lyell
T foger

B James Hutton
SIFg gedd

C W.M. Davis

gsd. UH. 36T

D Penk
e

Answer C
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Question | Lui Agasees has contributed in the field of --------------
IS W T TG --mmmmemoev SFATHEY 3R,
A Glacial
TATTA3TT
B Fluvial
Fegdiel
C Arid
D Carst Topography
ShIEC ST
Answer A
Id 4
Question | Who postulated concept of geosyncline?
HHATATT & HehoUsTl IV ATSEN?
A Holmes
gl
B Haug
C Penk
Ueh
D James hall and dana
SIFH gleT 30T ST
Answer D
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Question | River capture occurred due to--------------------- .

A Valley erosion

38 o

B Sheet erosion

BICRC]

[N

C Head ward erosion

ATLITRSI g

D Backward erosion

ared (ATTen) g

Answer C

Id 6
Question | The upper limit of stratosphere is called----------------- .
TEUTTeaRT=AT I=AT AICAT —-oommmeeev FEUTAId.
A Tropopause
GELSES])
B Stratopause
FEyaEds
C Exosphere
afgavger
D None of these
T ATEr

Answer B
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Question | The diameter of hurricane in between ------------------- )

ARG 1] B - S — TIT SLFTT 379

A 160 and 640 km.
€0 3TTOT €Yo fohal.

B 200 and 800 km.
oo IIfOT ¢oo ThAT

C 100 and 500 km.
goo HTfOT Yoo fohaiy

D 240 and 800 km.
Yo 3TTOT ¢oo TRAT

Answer A

Id 8
Question | The normal lapse rate of temperature is -------------- .
SIREA GG R P21 Co e oo BReF= | L) [—— 3R,
A 1°C. Per 160 meter height
e teo HIX MM ¢ &
B 1°C. Per 180 meter height
&l 9¢o Hex 3dfter ¢ &
C 1°C. Per 200 meter height
&Y oo HIET 3dfem ¢ A
D 1°C. Per 100 meter height

gy goo HIEY 3dlell ¢ &

Answer A
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Question | The Kopen divided world climate into -------------- principle type.
S | IR N TS e £ 1 | TS S | ——— YA YR Sell.
A Six
el
B Five
qr
C Four
IR
D Three
iG]
Answer B
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Question | ----------mm---- vegetation is found in desert climatic region.
gl gaTHTATSAT JeTd JATIdT 3Teddrd.
A Xerophyte
SRIBIST
B Evergreen
HeTedid
C Decudius
SIGEE
D Taiga
SEll
Answer A
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Question | The major source of temperature of ocean water i ---------------- .
AR AIOATEAT TTAATT TG T —-omememememen IR
A The sun
g
B The Earth
il
C The moon
iz
D The Mars
HaTeT
Answer A
Id 12
Question | The average salinity of ocean and sea water is ----------------- )
HETERR 3TT0T RN IroATE T &Il —-mmmmmmmeeee IR
A 25%
3%
B 35%
%
C 40%
%%
D 45 %
%%
Answer B
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Question | Sargosso sea is located in -----------------
ARINAT FHG ----emmmemmeev HqEY 3T
A Pacific Ocean
Yfafhes FAGER
B Atlantic Ocean
Jcoliiesh HGMEPR
C Indian Ocean
fedr @meramR
D Artic Ocean
3T AGRIPR
Answer B
Id 14
Question | Which of the following is coral Island?
Grellel Uil 10T Ydles ST H1R?
A Tasmania
CTEATT
B Maldives
AT
C Lakhdeep
CICAR]
D Shrilanka
HretehT
Answer C
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Question | Kuroshio current flows along the coast of ----------------- .
=T qaihelraTa®el HATAN FaTg arga.
A Japan
cEIG)
B India
ART
C Australia
sreeforar
D Brazil
EIEIC)
Answer A
Id 16
Question | Who used the term Ecosystem for the first time?
shIfaTeH g Tar TaUYH ol qraer.
A Fosberg
g
B Lindeman R. C.
fosHeT 3.
C Tansley A. G.
cledd TS
D Odum E. P
s 9%
Answer C
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Question |Man is @ ---------==-------———-- in a food chain.
ool @A ALY AT 3e
A Producer
3c4icesh
B Primary Consumer
EIRIECEEED
C Secondary consumer
fegda saten
D Primary and secondary consumer
WA 30T fegdia 1aTeh
Answer D
Id 18
Question | Bhopal gas disaster occurred in year of --------------- :
RIS EEI IR VI 3] E— ast gsei.
A 1980
§R¢o
B 1984
9R¢Y
C 1983
9R¢3
D 1982
9R¢R
Answer B
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Question | Chipko movement is related to---------------- .
B E D [ [ —— r gafaa 31me.
A Soil conservation
HeT Hads
B Water conservation
qrofy Hatle
C Forest conservation
. -
D Deforestation
Answer C
Id 20
Question | The kana national park is located in ------------
EOCEI BRI LTI L M ToR | R — HqEY 3T
A Uttar-pradesh
3cduceer
B Rajasthan
TSTEATT
C Kerala
D
D Madhya-pradesh
HET veer
Answer D
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Question is known as the father of geography.
---------------- g 3PN Sfeleh FEUTA 3BTl ST
A Hecateus
gehTIe3TH
B Herodotus
eIsied
C Strabo
Falr
D Tolemy
crelAT
Answer A
Id 22
Question |Iliad and odesy were written by ---------=----=----- .
S T I S el gl M
A Homer
T
B Thales
Jrac)
C Aristotle
REEe
D Strabo
FCail
Answer A
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Question | The book entitled kitab -ul- Hind is written by ---

fohdTer -3ol- fée 8T FY oo m?ﬁﬁmm

A Al baruni
37T d%al

B Al Balkhi
el dTeld

C Ibn Batuta
geel dCer

D Ibn Khldun
3ot o

Answer A

Id 24
Question | The concept of stop and go determinism was postulated by ------------------ .
I I I I B G D | A RS T | — i FTSe,
A Jean Brunches
ST g
B Humboldt
gdlec
C Ritter
D Grifith Taylor
MDY TR

Answer D
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Question | ---------mmmmoe- said that geography is chronological science.
3N § Teh HICShHTART AMET 3HTE HF---mmomemmemmemmemoee Tl Fgeor AR,
A Hettner
B Ritter
C Ritchthopen
Reais
D Huntington
Answer A
Id 26
Question | In japan, Population census is conducted at an interval of ----------------- years
STUTAHEY FUTIOTAT &L —-mmmmmmmmmmmmmme IETAT Sholl AT,
A 12
2R
B 15
29
C 10
go
D 5
(.3
Answer D
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Question | The polar regions are sparsely populated due to the -

................ A YT T2 o dehaEdd e

A High temperature
old dlYH]ed

B Low temperature
HHT dAIATT

C Heavy rainfall
SITEd It

D Dense forest
"eIgIC STaTel

Answer B

Id 28
Question | The world population day is celebrated on ------------------ .
K ICIREICI CRare | B T E——— ST GTSRT shell ATl
A 11 April
29 el
B 11 May
20 H
C 11 july
29 ol
)
D 11 August
29 3iforee

Answer C
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Question | Who is related to Rank size Rule?
T Grger &l Y 0T Gaeha 3me?
A G. K. Zipf
Si. &. sfi
B Mark Jefferson
e TR
C Linsky
foreehT
D Harris
g
Answer A
Id 30
Question | What is mono culture?
AT FHolaT FEUTS hRI?
A In it single crop is produced
JTALY Tehd U gdel 3.
B In it two crops are produced
I g O gdell STdrd.
C In it at least four crops are produced
ITAEY HIATHAT IR dell SATdId.
D None of these
IridehT ATET.
Answer A
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Question | Maximum population of development contries are engaged in ------------------ .
ICETONICEAIGIERGIE S I G TR Cs: | f— ALY I[Tolell 3T
A Primary activities
grafAe fohar
B Secondary activities
fegda fopam
C Tertiary activities
C
D Quarternary activities
EGUCIRER
Answer A
Id 32
Question | Transport system model was postulated by -------------------
CISS COe L T | 1 — IioT HAs,
A Carl souer
Flel AT
B Ritter
C E. L. Ullman
5. Sol. SeolHsT
D Humboldt
Answer C
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Question | Which of the following region of U.S. A. is most important is iron ore production?

Grelledehl HYFd TEUTATCATS HIVTAT TN elg@iciol ScUlesTd Hgcdrem 3Te.

A Superior lake region

FURBR TR T

B South Eastern region

AT geLT

C Western region

qiRTASSIT FaUA

D None of these
Iridehr ATET

Answer A

Id 34

Question | Which is the most suitable soil for cotton production?

HITH ScITCATHIST HIUT HeT S JdT 37Te.

A Alluvial soil
Tsgfceder Hel

B Regur soil
SIS

C Laterite soil
Stisfr #er

D None of these
T ATEr

Answer B
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Question | Who was the first to use statistical techniques to establish the crop combination region of
the middle U.S.A.?
ALY TYF HEYET UHHANT Jo TIR FOATEIET HEIRET T
FIGYH IO A0l SHelr?
A Dot
B Weaver
daX
C Stamp
w©q
D None of these
Irdehr TG
Answer B
Id 36
Question | Who putforth the rimland theory?
R#els Ragia o Az
A Mahan A. T.
HET T.Er
B Warner
IR
C Spykman N. J.
TAISHHAA Ted. .
D None of these
Irdehr ATEY
Answer C
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Question | In which of the following state Dogri is Spoken?
GTelTeldeh! SIOTcAT AT SPRT dletall SiTd.
A Assam
3TETH
B Rajasthan
ST T
C Jammu and kashmir
STEH 30T HIRAR
D Kerala
D
Answer C
Id 38
Question | In which of the following country, the highest diversity is found in terms of languages?
FTelTeldehT VAT ST HINALY HaTd Sed fATaerdr 3mesdd?
A India
AR
B Pakisthan
CIETSIGH
C Japan
ST9TeT
D England
ELCES
Answer |A
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Question | Which of the following race is found in East Asia?

qg‘q’ INAITAHED @relerdshl HIUTar 9T 3cadr.

A Negroid
fanss

B Caucasoid
HIHASS

C Mongoloid

et

D None of these

ITRY AT

Answer C

Id 40

Question | How many agro-Climatic region of India made by planning commission?

AT 3Ty IRARY foRclT T gaTdTeT AT el 3Med.

A 5

B 10
g0
C 15
29
D 20
0

Answer C
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Question | The region in which spatial differentiation's are very less are called ---------------- .
SATICATAET Uik [Reetar AT HaAr 3Fd Aol - FEUTAT.
A Nodal region
sSel TG
B Uniform region
THHATT T
C Natural region
Aqeiieh gaer
D None of these
T ATEr
Answer B
Id 42
Question | Which of the following figure indicates North-South extension of India?
GTelTeTdehT HIUTAT 37ThaT HRATT 3cck- GratoT aear gfaar
A 2500 Km.
Ryoo AT,
B 2933 Km.
K33 fere
C 3214Km.
3¢y ey
D 3570Km.
390 feraT
Answer C
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Question | Where Nathula Pass is located?
dYe s IS 3M8?
A In Sikkim
R 7L
B In Bhutan
HATTHAEY
C In Arunchal Pradesh
3TTUTRIST JoRmASY
D None of these
T SATEY
Answer A
Id 44
Question | In which district the zariya coal field is located?
SITRAT HIGATETT HIUTAT [STeedrd 31g?
A Dhanbad
BECIGE
B Hajaribag
EISTRIETT
C Darbhanga
RELElI]
D None of these
T ATEr
Answer A
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Question | In which district muchkund hydro power project is established?
HAdE STAded,d Yehod HIUIcTT TodTd IHRCT 3Te?
A Andra pradesh
TErvger
B Karnataka
Fellch
C Odisa
3T
D Tamilnadu
CIGEGIE
Answer C
Id 46
Question | Which of the following method is used to represent actual height of places from mean sea
level.
@relleiehl IO Tgd fSH0T=N FHGEIERET avdfas 3 gfavarard
aTITell ST,
A Spot height
Tl 3Tdlh
B Layer tinting
o ETEET (3R AL
C Hachures
Feg3t
D None of these
T SATEY
Answer A
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Question | Which of the following method is suitable to represent population distribution.
GreTdhl R Tgd NhaEaT Faor gfavarg T 3R,

A Pia diagram
faenfra adashdr

B Dot method
féa ggdr

C Graph
el

D None of these
ITY SATEY

Answer B

Id 48

Question | Which of the following system consist of data acquisition, data processing and data
analysis.
@%ﬁﬁwm(m)mﬁwmjamaﬁﬁ%w
T FATAA g,

A G. LS.
St 3. T

B G.P.S.
S 9. vy

C Remote sensing
eI HdeoA

D None of these
AT A

Answer C
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Question |If mean and mode of a frequency distribution have the same value then coefficient of
skewness is ------------- .
aRaar Ao #egAT g ageih fFad g 3 @d ) Ao
HEI[OTeh----- 3T,
A 0
B >0
C <0
D None of these
Jriehr sATer
Answer A
Id 50
Question | Which of the following is calculated by Karl pearson's method.
Grolteldehl AN 3ThsAS el AIRTATAT Tgdla el ST,
A Correlation
PRt
B Mean
HETHTA
C Median
AT
D Mode
)
Answer A




